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> ®EHD 28.26.cm?

(99 Ho])=3x 3 x3.14 = 28.26( cm?)




HF7F18.84cm Q1 Yol WolE oA L.

> HE T 28.26 cm?

(AE2] Zo|)=(¥F)+3.14 = 18.84 = 3.14 = 6( cm)
whaba Bz E0] Zo]7t 3emo| B &
o] ol 3x 3 x3.14 = 28.26( cm?) YU T},




3.  Hol7l 254.34cm? Q) 99 AEL H cmYY7R?

» E cm

[> HEFD 18cm

B
Ao| WX 5o] Aol& [ Jzt 3w
[ Ix[ ]x3.14 = 254.34

[ x][ ]=25434+3.14

[ Ix[ ]=81




BT Rie] Yol & Fatofet,

-90em-7”
@ 94.2cm? @ 125.6cm? @157cm2
@ 188.4cm? ® 314cm?

CELEREREE)
=(#1:50] 20emd A2 Wol)x ;- (AF0] 20eme) 22 4

O])x_

:20><20><3.14><}1—10><10x3.14><%

= 314 - 157
= 157(cm?)
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17F8ecm?l 3719 ¥4& Loz
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= om

B 98.24cm
TAQ 3R] Zojo] F2 A 17]e] YFet Fom
(Z8) = (16 x 3) + (16 x 3.14)

=48 +50.24
= 98.24(cm)
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o] 99 Zdol& s 2.

>
> HEHD 150.72cm

73 & 99 & 1 24cm
(HAESE B2 =3

=(AE°] 24 cm Q] L LF)+(X5°] 16 cm Q1 A AF)+(A
ol 8em?l ¥l AF)

= (24 % 3.14) + (16 X 3.14) + 8 x 3.14)

= 75.36 + 50.24 + 25.12

— 150.72( cm)




